HE 4 77 .50 18 Bl
Direct Operated/ 7.5 Ton

DPD — 075 — 000 — 075 -+ DHP | S2
EX ) bl e B BRITRE BRI A AERE
Series Working Force Total strok Working stroke Accessories Sensor
I I I I I [
BEER 7.5m& Ton DPD-000 7.5mm - 075 A EE-DHP 1Pcs-S1
15mm - 150 Die Holder Pad 2Pcs-S2
KifH+E-DRE
Rod End
WEREE2H
Referen_ce page 22
S8 R~fDimensional Features (Efi :mm) : EARTIHE
Blank is no needed
170
130
[1]1PT 1/2" [2] PT 1/2" - [3] PT 1/2" — —(330-40L,
M26x1.5P-56L | 4
& &
A
Y ‘™ 070 . o
| 2 ® @
T N Tl g 8 of o
Y SEsinER: F
T
i L }
j I : D @
11 0 N s e — . — — — _—
) Sensor area any
{ \\ ST 'rza P 57
40 B 42 A 30| 35 35 L M8x1.25P
C
4-021-§538 L4-M16x2.0P
FEMFLRIFIRFL PT 3/8"
(Use R-32 or ISO#32 Qil)
Bt mm
EMm#Eik Code No. 1T Working stroke A B (@
DPD-075-000-075 7.5 78 106 332 ®
DPD-075-000-150 15 93 167 408 :
BRHENREGERR (BE—RZREAE) :
Theoretical force & Consumption ( The values for a complete "down stroke/return" cycle ) @
wiB #HH/kg B2 #1 51/kg ERAE(EER—R)L ® e
DPD-075-000-075 (2.430 x Pd + 2.509 )/ 1.033 o0
(14426 xPd) (157 xPd) [ X
DPD-075-000-150 (4.653 x Pd +4.804 )/ 1.033 Y
# 1).Pd: /B (Driven pressure)-- kg/cm? o0
49 ¢ AR &L 2 DPD-075-000-075 5 416/ /1 & Skg/em® » B3R Arsa th /R4 R —R2 I MEH 1 1442.6 X5=T213 kg : o0
(2430 X5+2.509)=14.192 [ X
Example 1 : If the power unit code No. DPD-075-000-075 , operating pressure is 5 kg/cm’, so force of the Power unit Cylinder and the . .
consumption for a complete "down stroke/return" cycleis : 1442.6 X5=7213 kg : ( 2.430 X5+2.509)=14.19¢ . .
®®




|

H B 3\ it 77 5 W 18 B I
Direct Operated/ 5 Ton

DII’D — 0.‘.'|>0 — 000 — 075 |+ DHP | S2

I

I |

1

EX B H w72 BT HEMEET EC i IR 2R
Series Working Force Total strok Working stroke Accessories Sensor
[ | I [ I I
BHE{ 5 Ton DPD-000 7.5mm - 075 AL EEE-DHP 1Pcs-S1
15mm - 150 Die Holder Pad 2Pcs-S2
FKi#k12-DRE
Rod End
WemE2s
Referer_n_ce page 22
SV R~fDimensional Features (B : mm) ZEARTARE
Blank is no needed
140
110
[11PT 1/2" [2] PT 3/8" [3] PT 3/8" — —@25-35L,
M20x1.5P-50L p J
& &
AN

7 1 0 = ©| 1
7 5 > | s 0 = |
I
i L j
j I d ) @
10 15 ——————] . —
© Sensor afea Y
{ \ Sl 9
40 B 38 A 251,30 35 L M8x1.25P
Cc
4-015-§438 “4-M14x1.5P
FEMFLRRFIRFL PT 3/8"
(Use R-32 or ISO#32 Qil)
B o
EMm#wsk Code No. 11742 Working stroke A B (&
@ DPD-050-000-075 7.5 79 105 317
: DPD-050-000-150 15 97 165 392
: BHENREGERE (EE—RZHEE)
® Theoretical force & Consumption ( The values for a complete "down stroke/return" cycle )
®® 15 @ N/kg ElfEFIN/kg RRE(FE—X)/L
o0 DPD-050-000-075 (1.658 x Pd +1.711 )/ 1.033
[ X ) (985.2xPd) (106.8 x Pd)
®® DPD-050-000-150 (3.173x Pd +3.276 )/ 1.033
. ‘ i 1).Pd: @M (Driven pressure)-- kg/em’
ot SRR BEAL O f5ok % DPD-050-000-075 UGS AR 6 kg/em’ WEDEHD A EMHIELIBEMIEEME 9852 0 6=5911 kg :
ee® (1.658 U 6+ 1.711) = 11.292
. . Example 1 If the power unit code No. DPD-050-000-075 , operating pressure is 6 kg/em?, so force of the Power unit Cylinder and the
. . consumption for a complete "down stroke/return" cycleis 9852 U 6=35911 kg : ( 1.658 U 6+ 1.711 ) =11.29¢
o0




B B3\ & 77 30 18 B I
Direct Operated/ 3 Ton

DPD — 030 — 000 — 075 -+~ DHP | S2
EX ) bl e B BRITRE BRI A AERE
Series Working Force Total strok Working stroke Accessories Sensor
I I I I I |
HER 3§ Ton DPD-000 7.5mm - 075 A EE%-DHP 1Pcs-S1
15mm - 150 Die Holder Pad 2Pcs-S2
KifH+E-DRE
Rod End
WEREE2H
Referen_ce page 22
S8 R~fDimensional Features ( B : mm) EARTIHE
Blank is no needed
114
[M]PT1/2"  [2]PT3/8" [3] PT 3/8"— ~@25-35L, 85
M20x1.5P-50L
{ &
\ D L
3
I | ™ e =
: ® o |8 8 HE
U ; 0 9
Sensor aTaa T e (T o=
A
© E ST |25 |15 @ C v
‘ C 17
36 B 38 A 25 | 25| 35 -M8x1.25f
c 4-013-$538 4-M12x1.5P
ML RIFRTL PT 3/8"
(Use R-32 or ISO#32 Oil)
Bt mm
EMm#Eik Code No. 1T Working stroke A B (@
DPD-030-000-075 75 71 97 294
DPD-030-000-150 15 86 156 368

ERHNREFERE (FR—XZERE)

Theoretical force & Consumption ( The values for a complete "down stroke/return" cycle )

w5 B Hlkg B2 51 51/kg FRE(FR—R)/L
DPD-030-000-075 (10.36 x Pd + 1.070 ) / 1.033
(615.8 x Pd ) (66 x Pd )
DPD-030-000-150 (1.980 x Pd +2.044 ) / 1.033

consumption for a complete "down stroke/return" cycle is *

#E 1).Pd: 544 (Driven pressure)-- kg/cm®

45 0 38R AxILAE & DPD-030-000-150 « %3545 /1 A 6 kg/om® « R3BBacs it h R R —R2 4R FH © 6158 X6=3695kg :
(1.980 X 6+2.044 )=13.48¢

Example 1 : If the power unit code No. DPD-030-000-150 , operating pressure is 6 kg/cm’, so force of the Power unit Cylinder and the

615.8 X6=3695kg : ( 1.980 X6+2.044)=13.48¢2




HE 3\ i 71 2 W[ 18 B L
Direct Operated/ 2 Ton

4MB R ~FDimensional Features ( B : mm)

Blank is no needed

[3] PT 1/4"

"[1] PT3/8" [2]PT 1/4"~‘
1

- i
2 el

7L T T
T T

—$20-30L,

W.
|
o

-9 —

$35

BB

M16x1.5P-45L

DPD — 020 — 000 — 075 | DHP | S2
5 RN BT HEITIE R SRR
Series Working Force Total strok Working stroke Accessories Sensor
[ I I [ I I
HEX 26§ Ton DPD-000 7.5mm - 075 A ER-DHP 1Pcs-S1
15mm - 150 Die Holder Pad 2Pcs-S2

FU#1%-DRE

Rod End

HBmE2H

Reference page 22

EARTABE

072

150

Sensor arpa
o | |H \ ST |25
[k —
| 5 36 B 38 A 25 1,201, 35 -M8X1-25‘ii
\\ c -B13-85iE 4-M10x1.5P
LR FRA, PT 3/8"
(Use R-32 or ISO#32 Qil)
B mm
EMm#E Code No. 1752 Working stroke A B C
@ DPD-020-000-075 7.5 67 95 281
: DPD-020-000-150 15 82 1152 353
®  ERHNERTEENRE (BE—RZEAR)
@
Theoretical force & Consumption ( The values for a complete "down stroke/return” cycle )
®
8® w5 W Hikg B2 5l H1/kg ERE(EE—R)/L
o0 DPD-020-000-075 (0.642 x Pd + 0.663 )/ 1.033
[ X ) (380.2xPd) (40.6 xPd)
®® DPD-020-000-150 (1.224 x Pd + 1.264 )/ 1.033
. ‘ #E 1).Pd:5& MEFF(Driven pressure)-- kg/em®
. . Hets] T 3% ME f A% 2 DPD-020-000-150 + 5345 & /) & Skg/em® » B H Mo /) R E— k2 4 E S  380.2 X5=1901 kg :
[ X ) (1224 x5+ 1.264)="7.15¢
. . Example 1 : If the power unit code No. DPD-020-000-150 , operating pressure is 5 kg/cm’, so force of the Power unit Cylinder and the
. . consumption for a complete "down stroke/return" cycleis : 380.2 X5=1901kg: ( 1.224 X5+ 1.264)=7.15¢
o0




HE 3\ 771 WA 18 B L
Direct Operated/ 1 Ton

“[]PT3/8" [2] PT 1/4" [3] PT 1/4" —

—$20-30L,
M16x1.5P-45L

1=

X

L T

DpD — 010 — 000 — 075 -+ DHP | S2
51 IR BT EETTRE R ECH e
Series Working Force Total strok Working stroke Accessories Sensor
I I I I [ I
BHER 18§ Ton DPD-000 7.5mm - 075 HLAER-DHP 1Pcs-S1
15mm - 150 Die Holder Pad 2Pcs-S2
Ki#E-DRE
Rod End
WABME2R
Referen_ce page 22
48 R~fDimensional Features ( B{i : mm) EARTIHE
Blank is no needed
78
56

3
lu)
-

@30
056.5

120

/ ' i L_o ® @
f Sensor a1ea e I =5
AY
& E \ ST |22 15 @ e
[ ‘
5 36 B 38 A 25 | 15| 25 -M8x1.25H
¢ P11x4- 3538 L4-M8x1.25P
AL RIERA, PT 3/8"
(Use R-32 or ISO#32 Qil)
EE{i : mm
EMm#Eik Code No. 1T Working stroke A B (@
DPD-010-000-075 7.5 61 81 256
DPD-010-000-150 15 76 128 318
BERHHDERZFERE (FR—XZERE)
Theoretical force & Consumption ( The values for a complete "down stroke/return" cycle )
L] W N/kg E#H/kg ARE(FE—R)/L
DPD-010-000-075 (0.337 x Pd + 0.348 ) / 1.033
(194.8xPd) (24.2xPd)
DPD-010-000-150 (0.639 x Pd + 0.660 )/ 1.033
#E 1).Pd:434(Driven pressure)-- kg/cm?
A4) ¢ IR ALK A DPD-010-000-075 + %3568 1 A Skg/om® » R Bacih H REB —RZ R FH 1948 X5=974 kg :
(0.337 x5+0.348)=1.97¢
Example 1 : If the power unit code No. DPD-010-000-075 , operating pressure is 5 kg/cm’, so force of the Power unit Cylinder and the
consumption for a complete "down stroke/return" cycleis : 194.8 X5=974kg : ( 0337 X5+0.348)=1.97¢




